1 do
o dn,(leading)

dn, (leadmg) [pb]

(6.102 £ 0.102 £ 0.211) x10~2
(9.44 + 0.124 + 0.304) x10~2

0.146 £ 0.002 £ 0.002
0.194 £ 0.002 £ 0.003
0.243 £ 0.002 £ 0.003
0.29 £ 0.002 £ 0.003
0.318 £ 0.002 == 0.004
0.321 £ 0.002 £ 0.004
0.326 &= 0.002 == 0.004
0.315 £ 0.002 £ 0.004
0.287 £ 0.002 == 0.004
0.245 £ 0.002 £ 0.003
0.192 £ 0.002 == 0.003
0.146 £ 0.002 £ 0.004

(9.55 + 0.129 + 0.268) x 102
(5.913 £ 0.101 £ 0.159) x10~2

0.69 = 0.012 £ 0.052
1.067 £ 0.014 £ 0.084
1.655 £+ 0.018 £+ 0.102
2.198 £+ 0.02 £ 0.138
2.749 £ 0.022 = 0.17
3.28 £0.024 0.2
3.591 £ 0.025 = 0.219
3.625 £+ 0.025 £ 0.23
3.689 £ 0.026 = 0.23
3.563 £ 0.026 £ 0.219
3.247 £+ 0.024 £+ 0.197
2.767 £ 0.023 £ 0.175
2.168 = 0.021 = 0.139
1.652 £ 0.019 £ 0.106
1.08 £ 0.015 £ 0.082
0.669 = 0.012 = 0.049



